	Фамилия______________ Имя____________ Класс_______________
Вариант 1
Решить уравнение:
Х2-5 *х+12=0
Решение:



Ответ:_____________________


	Фамилия______________ Имя____________ Класс_______________
Вариант 2
Решить уравнение:
Х2=5 *х-12
Решение:



Ответ:_____________________


	Фамилия______________ Имя____________ Класс_______________
Вариант 3
Решить уравнение:
Х2+12=5 *х
Решение:



Ответ:_____________________


	Фамилия______________ Имя____________ Класс_______________
Вариант 4
Решить уравнение:
5 *х-12=х2
Решение:



[bookmark: _GoBack]Ответ:_____________________



